gé ’8z7 - Qv\qlrm—bjé thncf/(?mS?L‘ Tllﬁ/'f G_chllphj

Note Title
A VA
pa— x fixy=x* | x,fix)) ' |
(X> ><< (—3 “}"ﬁ ’ f3.5)
-3 9 (—3,9) = '. s I.' ;
-2 4 (—2,4) \ );‘
—1 ] {_I..I} 5 fl.l'l:ja
0 0 (0,0 241 | e
1 1 (1,1 -
2 4 (2,4) TN PN
3 9 (3,9) 5+.4:1|\|:.:451
Wertex: (0,0

5%?7tt oV )
O—F +the sfjijv( see,
N

(A<0) | /5 poad 86 ¥ gpid !

more »"30"0‘*7 de\/e of
oF these Tdex

OCra L\ awmmteﬂ N
D 9= S x et =0 Hge=3 3

A A




(3.7)

@ ()/fapl’\ jC(,K) - Xa\“%x""ﬁ bﬂ Lamr)letl,/ij The 5zuafe,

@ ()/fﬂplf\ ;(K) ;Q )(;L‘l' #)(‘—I-é) bﬁ (’”Mf)(e’&,’ﬂ The )‘Zuafe,

@ (j/raplf\ J:()Q

>< +3)<—-

—

A

A

\J

bﬂ (’”Mf(e’tmj The jzuare

A

\J




F?f\(l Jgke vertexX ]Vﬂ COMf))@’Ul‘/\j the Square.
Tx) = ax +bx+C

The Vertex of a Parabola The vertex of the parabola given by
flx) = ax* + bx + cis
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The x-coordinate of the vertex is —b/(2a). The axis of symmetry is
x==b/(2a). The second coordinate of the vertex is most commonly
b

2a
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The Graph of a Quadratic Function Given by f(x) = ax® + bx + ¢
or f(x) =alx - h)* + k

The graph is a parabola.
b b
The vertex is (I k) or (_Qa'f(_ﬂ))'

The axis of symmetry isx=h
The y-intercept of the graph is (0, ¢).
The x-intercepts can be found by solving ax® + by + ¢ = 0.
If b* = 4ac = 0, there are two x-intercepts.
If b° — dae = 0, there is one y-intereept.
If b~ = 4ac << 0, there are no x-intercepts.
The domain of the function is { —s=, =),
If a is positive:  The graph opens upward.
The function has a minimum value, given by k.
This occurs when x = A,
The range of the function is [k, =),
If @ is negative: The graph opens downward.
The function has a maximum value, given by k.
This occurs when x = A
The range of the function is (==, k].



